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ARG DIEXER
FEEAA : 22828168 (K) &AL TIWRUF JERGRE : RyNIE
FAI-X: K P Q PEUR—)L BB . 1:44FAH
KING DEED®O® =15 180 A
Avk . PARx2 PRINCE Q@B®@®B®® pogia 23 A
QUEEN ©OR@G@® Y27 0 A HDCP_LIR :
ShNE 203 A B 36 36327 :36
NEAL SNEL KING | PRINCE | QUEEN GROSS| HDCP| NET g &4 SNEL KING)/ PRINCE| QUEEN GROSS| HDCP| NET e AL Sn&E4 KING | PRINCE| QUEEN GRoss | HDCP| NET {F=
& OF K& 49 51 100/ 30.0 [70.0 51 H JF—EBP 51 45 96| 21.6 |74.4 101 | KEF x—EBB 49 50 99| 22.8(76.2
2 | FH FIE 40| 39 79| 8.4 |70.6|~"2J0E 52 iR {E—BP 40| 44 84| 9.6(74.4 102 | $gith ;&= 50 49 99| 22.8(76.2
3 | Kf8 BF 44 45 89| 18.0 [71.0 53 | AfR B2 51 50 101] 26.4 |74.6 103 |§EMH FI8H 50 49 99| 22.8(76.2
4 |EAEE 5% 44| 39 83| 12.0 [71.0 54 | Ti% {8— 47 42 89| 14.4 |74.6 104 £ =T 45 48 93| 16.8|76.2
5 |®iE S 39| 43 82| 10.8]71.2 55 [LlLG It 51 49 100| 25.2 |74.8 105 | Ak Bt 44 48 92| 15.6 |76.4
6 EEH EXT) 50| 52 102/| 30.0 [72.0 56 | ¥k BB 44 44 88| 13.2(74.8 106 LU AR 44| 42 86| 9.6/76.4
7 | KA 5 52| 44 96| 24.0 [72.0 57 {4 K Fia 47| 47 94| 19.274.8 107 stH BA 48| 56 104| 27.6 |76.4
8 MR iF— 50| 51 101| 28.8|72.2 58 J&Z2B HXIE 42| 46 88| 13.2|74.8 108 | #4& BEREP 43 42 85 8.4|76.6
9 KK E= 44| 44 88| 15.6 |72.4 59 kR B 40| 42 82| 7.2|74.8 109 | F— 45| 46 91| 14.4 |76.6
10 | &€F BF 49 45 94| 21.6 |72.4 60 |5k 55 52| 47 99| 24.0 [75.0 110 |/N\EF {BF 44| 46 90| 13.2/76.8
11 |F3E ZX 46| 48 94| 21.6|72.4 61 |1EH Hif 47 46 93| 18.0 |75.0 111 Z)l| BSR 45| 51 96 19.2|76.8
12 | KA R Ef 53| 46 99| 26.4 [72.6 62 A —=7X 46| 47 93| 18.0 |75.0 112 |paJEp BRZE 51| 51 102] 25.2176.8
13 |fEkE Ek 44| 49 93| 204 (72.6 63 | At —E 41 40 81| 6.0/75.0 113 | KB IEBS 44| 45 89| 12.0 |77.0
14 B Bk 48| 51 99| 26.4|72.6 64 JIIB XX 50| 48 o8| 22.8 [75.2 114 | §5ith 5= 46| 49 95| 18.0]77.0
15 | X5¥¥ ia 43| 44 87| 14.4(72.6 65 | M Eif 44| 42 86| 10.8 |75.2 115 |/\f§ B 52| 48 100| 22.8 [77.2
16 A 8% 45| 42 87| 14.4|72.6 66 357K THF 51| 53 104| 28.8 |75.2 116 HPp =& 51| 49 100| 22.877.2
17 |PIE H= 44 43 87 14.4|72.6 67 £H &FX 42| 38 80| 4.8/75.2 117 | EH £ 47 53 100| 22.8 |77.2
18 BA& {8k 44| 49 93] 204[72.6 68 =l AEP 45 47 92| 16.8|75.2 118 ;a][H 7 46| 47 93| 156 |77.4
19 | KF EF— 41| 40 81| 8472.6 69 |IA7A 5& 53 51 104| 28.8 |75.2 119 |$gith 1IE 48| 45 93| 156 |77.4
20 | B HEKF 50/ 48 o8| 25.2(72.8 70 BE& &) 47| 45 92| 16.8|75.2 120 |Hh)I| Z 62 49 111] 33.6 |77.4
21 KK B 54 44 98| 25.2 (72.8 71 | K8 — 50| 48 o8| 22.8 75.2 121 [{PE F5 48 44 92| 14.4 |77.6
22 =0 % 48 44 92| 19.2]72.8 72 & R 47| 50 97| 21.6 |75.4 122 | KH —B% 47 45 92| 14.4|77.6
23 |Gith 3B 47| 45 92| 19.2 |72.8 73 {81l ik 48| 49 97| 21.6 |75.4 123 |j0]Bf =— 46 52 98| 204 |77.6
24 |} B 48| 49 97| 24.0 |73.0 74 {h fE— 56| 47 103| 27.6 |75.4 124 | KH X— 48| 49 97| 19.2 [77.8
25 AR 8t 40| 39 79| 6.0/73.0 75 BRAR EXFH 40| 39 79| 3.6|75.4 125 | —= flisE 53| 56 109| 31.2 |77.8
26 | FTH &— 47 43 90| 16.8 |73.2 76 | FE HiE 41| 44 85| 9.6 |75.4 126 | BAEF Pz 48| 49 97| 19.2|77.8
27 | &F B— 39 44 83| 9.6/73.4 77 | n$¥ SiE 55 54 109| 33.6 |75.4 127 A Ih 55| 47 102| 24.0 |78.0
28 (I Bk 42 47 89| 156 |73.4 78 | LB B A 48| 48 96| 20.4 |75.6 128 | 553t HYF 55| 47 102| 24.0 |78.0
29 fEE T 42| 47 89| 15.6 |73.4 79 | EH IEC 49| 59 108| 32.4|75.6 129 ;AR #65) 53| 61 114| 36.0 | 78.0
30 | £H DEX 53| 47 100| 26.4 [73.6 80 JEEP 2T 48| 42 90| 14.4 |75.6 130| FH %%— 52| 50 102| 24.0 [78.0
31 |pRE BEIsh 43 45 88 14.4 |73.6 81 XH EXE 49| 47 96| 20.4 |75.6 131 iEE B|Bia 45| 50 95| 16.8(78.2
32 SH HE 45 43 88| 14.4 [73.6 82 Eif M 41| 43 84| 84|75.6 132 |3ESR 5hSE 54| 53 107| 28.878.2
33 X Lk 5068 46| 54 100| 26.4 |73.6 83 =H =1E 42 42 84| 8.4|75.6 133 K FE 50/ 51 101] 22.8]78.2
34 | —= G 44| 43 87| 13.2]73.8 84 |’ =0 47 55 102| 26.4 |75.6 134 |HELL &S 50/ 51 101| 22.8(78.2
35 | ” &= E— 42 51 93| 19.2(73.8 85 Bk A 44 46 90| 14.4 |75.6 135 |ER|l| kg 49 51 100| 21.6 |78.4
36 |HRE FR 50 55 105| 31.2(73.8 86 kK FE 44| 46 90| 14.4 [75.6 136 | &R Bp{— 47| 53 100| 21.6 |78.4
37 | AT = 44 43 87| 13.2]73.8 87 iB/K X¥ia 49| 46 95| 19.2|75.8 137 |5 b 46 48 94| 15.6 |78.4
38 IUK IFE 41| 46 87| 13.2(73.8 88 |iE/K THk 46| 49 95| 19.2 |75.8 138 | LLF% KXGEP 49| 50 99| 20.4[78.6
39 #rH N 43 44 87| 13.2]73.8 89 =iF B 44 45 89| 13.2|75.8 139 | =il kit 52| 53 105| 26.4 | 78.6
40 Hith £ 41| 45 86| 12.0(74.0 90 | X ==AI 45 44 89| 132 [75.8 140 |k E1E 47 46 93] 14.4 |78.6
41 LR —=& 43 43 86| 12.0|74.0 91 H{lll BE— 50| 51 101] 25.2 |75.8 141 | ik BRIT 54 45 99| 20.4[78.6
42 35 D3 54 50 104| 30.0 [74.0 92 | KAR fIF 55| 57 112] 36.0 |76.0 142|1RE F 58 52 110| 31.2(78.8
43 |fEA 18 44| 47 91| 16.8/74.2 93 Il BE 49| 45 94| 18.076.0 143 | B fH BB 53| 51 104] 25.2|78.8
a4 |i{H &— 44| 47 91| 16.8|74.2 94 | KHE BN 41 47 88| 12.0|76.0 144 55 BIR 44| 48 92| 13.2/78.8
45 | He R 44 41 85| 10.8|74.2 95 | =iF T 54| 52 106| 30.0 |76.0 145| KF BiE 44| 48 92| 13.2/78.8
46 —= IEF 48 48 96| 21.6 |74.4 96 EEH th_ 45| 43 88| 12.0|76.0 146 | FEH =#0 50| 54 104| 25.278.8
47 | ”=E RA 41 49 90| 15.6 |74.4 97 | FH iais 46 47 93| 16.876.2 147 fql] F#184 50| 54 104| 25.278.8
48 |[H Rk 46, 50 96| 21.6 |74.4 98 KiE RX 50| 43 93| 16.8|76.2 148 #FFLL 3Lk 47 50 97| 18.0(79.0
a9 | HiEk A= 47 49 96| 21.6 |74.4 99 &H K& 50| 43 93| 16.8 76.2 149 | 1B BRi2 51 52 103| 24.0[79.0
50 |SPEI= B1E 46 56 102| 27.6 |74.4 100 X¥5 358 52| 53 105| 28.8 |76.2 150 | iElG X 54| 49 103] 24.0 |79.0
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fwhk: PARX2 PRINCE @BG@0G®® 41 23 A
QUEEN ©OBR@®G0® 377 0A HDCP_LR :
& 203 A B 36 3632736
NE4sz &4 KING | PRINCE | QUEEN GROSS| HDCP| NET i [:Tjv2 ShnE4 KING| PRINCE| QUEEN GROss| HDCP| NET mE N4 SiNE4 KING] PRINCE| QUEEN GROss| HDCP| NET 5
151 1§H BF 60 55 115] 36.0 |79.0 201 {2 K [&E] 47| 57 104 15.6 |88.4
152 | BR{E MIRF 59 56 115| 36.0 |79.0 202 | B F FE 58] 67 125 36.0 |89.0
153 5 BRI 49| 47 96| 16.8 79.2 203 | I /X 75 64 139/ 36.0 |103.0
154 EH 5h 52 50 102| 22.8/79.2
155 K {FF 49| 58 107| 27.6 | 79.4
156 B IE4E 50, 51 101| 21.6 |79.4
157 _ = HF 55| 51 106/ 26.4|79.6
158 {k 4K &g 46| 54 100| 20.4 |79.6
159 % 153 54 46 100| 20.4 |79.6
160 jE]EF B& 50 50 100/ 20.4 |79.6
161 R& XHA 53| 52 105| 25.2 |79.8
162 fHch #1155 48| 45 93] 13.2/79.8
163 | $C{REF {2 53| 46 99| 19.2/79.8
164 | §5K FRER 55/ 55 110/ 30.0 |80.0
165 [l K 50| 42 92| 12.0/80.0
166 #E)l| E£& 57| 59 116/ 36.0 |80.0
167 | /)8 ¥— 48 56 104| 24.0 |80.0
168 jF3x B =5 51 104| 24.0 |80.0
169 {R{E =€ 52 51 103| 22.8 |80.2
170 %5 (& 51| 58 109/ 28.8|80.2
171|357K BSF 53| 55 108/ 27.6 |80.4
172| GH #FF 50| 46 96| 15.6 |80.4
173 | 5T Fin 57| 57 114| 33.6 | 80.4
174 /K% IEZ 54 54 108/ 27.6 |80.4
175 | ;| 44 52 96| 15.6 |80.4
176 SH {SEP 44 46 90| 9.6/80.4
177 5H 85 51| 50 101| 20.4 |80.6
178 #&)1l Lk 55| INSE! 107/| 26.4 |80.6
179 18H S— 49| 49 o8| 16.8 [81.2
180 LUK gl— 59, 56 115| 33.6 |81.4
181 {##H B— 51 61 112/ 30.0 |82.0
182 | #RH #£—BP 53| 52 105| 22.8 |82.2
183 P = 60 50 110| 27.6 |82.4
184 e HIiZ 54| 56 110| 27.6 |82.4
185| k7K &P 55 55 110| 27.6 |82.4
186 | /NIl BZ— 49 60 109| 26.4 |82.6
187 |IUF $hia 56 51 107/ 24.0 |83.0
188 |7k #413E 61| 57 118| 34.8 [83.2
189 | H E IS 52 64 116/ 32.4 |83.6
190 7KEF thF 51| 58 109| 25.2 /83.8
1901 ¥H BEE 49| 47 96| 12.0 |84.0
192 B FIA 57| 57 114/ 30.0 |84.0
193 | LU == 48 51 99| 14.4 |84.6
194 XE 1Z 55| 60 115/ 30.0 |85.0
195 BAEy 2 58 63 121/ 36.0 |85.0
196 |LUAK FEEK 55/ 58 113] 27.6 |85.4
197 B/ HWF 48| 59 107| 21.6 |85.4
198 AR B 64 58 122| 36.0|86.0
199 {REE B 57| 61 118| 31.2 /86.8
200 172 [E—EP 51| 58 109| 21.6 |87.4 5 A




